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Outcome 1 - Solving trig equations

Bronze example Silver example Gold example
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Example... Example... Xamples..
Find the points of intersection
Solve the equation 7 sin x° -1=3 Solve the equation B sin x° +2 =1 between the curvey = 9 cos x + 3 and
TP lie e S0, for 0 ¢ x ¢ 360. the fine y = & *#5et them
+ Take stuff + Take stuff 9cosx*+3=8 equal**
7sinx°-1=3 across! Bsinx*+2=1 across
9 cos x° = **Solve Trig
o + DrawaCAST 5 sin x° = -1 *+ DrawaCAST Equation**
7sinx® =4 diagram! sin x= == diagram! cosx°=5+9
. S g, . -0 cos " (0-666) = 56-3°
sinX®=4+7 Gin'(06714.)= 348° sinx*=-1+5  4n*(02)=115° 0996
= 05714 .. 180 - x X =-02 180 - x x x° = 56-3,
' S|A 3037
x° = 348, x° = 1915, v v (56-3. 8) and
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| 180+x | 360-x I ‘ 180+x | 360-x (303~ 7" 8) **State coords*™*
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Bronze Questions ] Silver Questions ]

Solve the following trig equations... &)  Solve the following trig equations.. Y

& DBtanx°-2:=0 0<x<360° =5 & DBsinx’+3:=0 0:x¢360° =
& 6cosx*-5=0 0<x< 360° A 7Tcosx°+2=0 0<x< 360°
e 8sinx®-3:=2 0< x< 360° e I10sinx°+6=1 0< x< 360°
4 2tanx+7:=10 0< x<360° & 2tanx°+3:=1 0<x<360°
E 4dcosx+4:=5 0<x< 360° & Beosx*+7=2 0:<x<360°

Gold Questions

Find the points of intersection between
the following curves and lines...

& 4

e Y=Dbcosx*-3 and y=0

.

& Y=9sinx°+1 and y=5
e Y=bcosx°+2 and y=7
& y=8sinx°+1l and y=9

& Y=T7cosx°+10 and y=-4
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Bronze Answers
1. 21-8°,201-8° 2. 33:6°,326-4°
3. 38-7°,141-3° 4. b6-3°,236-3°
5. 75-b°, 284-6°

Silver Answers
1. 216-9°, 323-1° 2. 106-6°,2b3-4°
3. 210°, 330° 4. 13b° 31b°

5. 128-7°,231-3°

Gold Answers

1. (53-1,0)and (3069,0) 2. (26-4, 5)and (1536, 5)
3. (336, 7)and (326:4,7) 4. (194'5,9) and (3455, 9)

5. (149-0,4) and (211-0, 4)
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